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COMPUTER ANALYSIS - EXERCISE


Case 1-50 of the data set will be available at the library on floppy disks. Answer the questions on page 2.  Obtain printouts of all data and turn in to faculty with your paper.


A researcher is conducting a study to evaluate whether an individual’s perceptions of hope, spirituality, knowledge of cancer, and fatalism (the belief that death is inevitable when cancer is present, Powe, 1995) will influence participation in fecal occult blood testing (FOBT). Valid and reliable questionnaires were used to assess hope, spirituality (spir), knowledge of cancer (know) and fatalism (fatal).  The participants were given the opportunity to participate in free FOBT.  The results of cases 26 – 50 are listed below to give you an example of how the data will look on the disk.












DATA CODES:









Gender  1 = Female   2 = Male

FOBT









 Marital Status


  Annual Income

1 = Participated in FOBT



  1 = Married


  
  1 = 0 - 5000

0 = Did not participate in FOBT

  2 = Single



  2 = 5001 - 10,000












  3 = Divorced


 
  3 = 10,001 - 15,000












  4 = Widow



  4 = > 15,001
	ID
	FOBT
	age
	marista
	gender
	income
	educa
	religion
	fam ca
	hope
	spir
	know
	fatal

	26
	0
	63
	2
	1
	1
	12
	2
	1
	12
	25
	3
	15

	27
	0
	89
	1
	1
	1
	3
	1
	1
	8
	25
	8
	5

	28
	0
	83
	4
	2
	2
	6
	6
	1
	12
	25
	8
	5

	29
	1
	72
	2
	1
	2
	2
	2
	1
	11
	25
	8
	13

	30
	0
	77
	4
	1
	2
	15
	1
	1
	12
	25
	9
	5

	31
	0
	70
	3
	1
	1
	12
	1
	1
	11
	24
	7
	11

	32
	1
	68
	4
	1
	1
	3
	1
	1
	10
	22
	7
	13

	33
	1
	74
	4
	1
	1
	12
	1
	1
	9
	26
	7
	12

	34
	1
	78
	4
	2
	1
	3
	1
	1
	10
	26
	7
	15

	35
	0
	81
	4
	1
	1
	9
	3
	0
	12
	24
	6
	13

	36
	0
	79
	4
	1
	1
	8
	1
	1
	10
	23
	8
	13

	37
	0
	90
	4
	1
	1
	4
	1
	1
	10
	25
	8
	11

	38
	0
	71
	4
	1
	2
	7
	1
	1
	11
	23
	7
	14

	39
	0
	83
	4
	2
	4
	12
	1
	1
	12
	24
	9
	10

	40
	0
	82
	1
	2
	2
	10
	6
	1
	12
	26
	8
	10

	41
	0
	62
	3
	1
	2
	12
	2
	1
	12
	24
	11
	3

	42
	0
	82
	4
	1
	1
	8
	1
	1
	12
	26
	8
	7

	43
	0
	72
	4
	1
	3
	9
	1
	1
	11
	26
	10
	1

	44
	0
	75
	2
	2
	2
	16
	2
	0
	11
	23
	6
	15

	45
	0
	86
	4
	1
	1
	1
	2
	1
	8
	23
	9
	12

	46
	0
	78
	4
	1
	1
	12
	1
	1
	12
	24
	9
	8

	47
	0
	68
	4
	1
	1
	7
	2
	1
	11
	26
	6
	10

	48
	0
	71
	1
	1
	1
	5
	1
	1
	11
	26
	6
	9

	49
	0
	61
	4
	1
	1
	12
	2
	1
	12
	26
	8
	3

	50
	0
	83
	4
	1
	1
	5
	4
	1
	12
	26
	10
	12


QUESTIONS

1.

What is the mean age of the persons who participated in FOBT and those who did not participate.

2.

What is the mean education for the sample?  Who had the highest mean education: those who participated in FOBT or those who did not? 

3.

Test the H0 that there is no difference in education between persons who participated in FOBT and those who did not.

4.

What were the mean fatalism, hope, knowledge, and spirituality scores for persons who participated in FOBT and those who did not?

5.

Test the H0 that there are no relationships among education, fatalism, hope, knowledge and spirituality.  What are the correlations among these variables?

6.

What were the mean fatalism, hope, knowledge, and spirituality scores for the sample?  Is there a statistically significant difference between  these means for persons who participated in FOBT and those who did not?

7.

How many did participate in FOBT?

8.

How many people in the sample were single?  How many people in the sample did not have a family history of cancer?

9.

The researcher hypothesized that there were differences in fatalism scores based on gender.  Write the H0 and test it.

10.

The researcher hypothesized that persons who participate in FOBT were more spiritual than people who did not participate.  Write the H0 and test it.

NOTE:  
Printouts must be turned in to faculty. ** Each question worth 10 points.** Assignment must be typewritten in a professional manner (5 points deducted if not typed).  ALL p-values, correlations (r), t-values, and means used to answer questions must be indicated within the typed answer.


USING SPSS



Revised for SPSS 10.0

OBTAINING CENTRAL TENDENCY MEASURES (Descriptive data):


1)

Click on "Analyze."


2)

Click on "Descriptive Statistics."


3)

Click on Descriptive (means, median, mode, standard deviation)


4)

Click on the variables you want. 


5)

Click on "Arrow."


6)

Click on "OK."

PERFORMING SELECTED STATISTICAL TESTS
TESTING MEANS, HYPOTHESES, ETC.

1)

Click on "Analyze."


2)

Click on "Compare Means."


3)

Click on "Independent Samples T-Test."


4)

Click on Variable (Example-Age) you want to examine.


5)

Click on "Arrow Box."


6)

Click on "Grouping Variable" (Example: to example variable for Method 1 and 




Method 2 - click on "Method").


7)

Click on "Bottom Arrow Box."


8)

Click on "Define Groups."


9)

Enter "1" for Group 1; enter "2" for Group 2.


10)

Click on "Continue."


11)

Click "OK."


12)

Results will appear on screen. (You will get a lot of freebies, look for the value for t,




and sig = p

13)       Report results from “Equal Variances Assumed” row.

OBTAINING FREQUENCIES:


1)

Click on "Analyze"


2)

Click on “Descriptive statistics”


3)

Click on Frequencies


4)

Click on variables on which you wish to obtain frequencies 


5)

Click on the Arrow button to move from the list of items to the variable list


6)

Click on "OK."

PEARSON CORRELATIONS:


1)

Click on "Analyze."


2)

Click on "Correlate."


3)

Click on "Bivariate."


4)

Click on "Variables of Interest."

5)       Click on "Arrow."

6)       Click on "OK." 

STEPS TO HYPOTHESIS TESTING
1.

State the research hypothesis (Hr).

2.

State the null hypothesis (Ho).  Most researchers do not state the null hypothesis in a formal manner.  They do know that this is the one being tested by the relevant test of statistical significance.

3.

Set the level of acceptable probability.  Frequently, this value is at the .05 or .01 level in nursing research.

4.

Collect data and compute the appropriate test of statistical significance.

5.

Use the p-value to determine if the results are statistically significant (i.e., .05 or .01).    If the p-value from the analysis is greater than the p-value you set a priori, then statistical significance has not been reached.  If the p value is less than or equal to the probability established, then statistical significance has been reached.  The null hypothesis would be rejected and the research hypothesis is accepted, meaning there is a difference.

6.

If statistical significance was not reached, one must support (accept) the null hypothesis and, by inference, be unable to support the research hypothesis.  Again, if statistical significance was reached, one rejects the null hypothesis and, by inference, supports the research hypothesis.

Again, let's walk through an example and then you can practice with additional examples.  We'll use this report. 

Reported data: The research hypothesis that there is a difference in the number of microorganisms on hands wearing rings when compared with hands not wearing rings, was tested using a t-test with alpha set at .05. The results by group were microorganisms for hands with no rings was mean=1,597 and SD= 2,346. The group with rings the mean =2,438 and the SD=3,717. The mean difference was -.842, t-value was 1.13 and the degrees of freedom (df) was 31 and p=.756. Therefore the null hypothesis that there is no difference in the number of microorganisms between hands wearing rings and hands not wearing rings is accepted.  



1.

State the research hypothesis.





There is a difference in the number of microorganisms on hands wearing rings when compared with hands not wearing rings in ICU nurses.



2.

State the null hypothesis.





There is no difference in the number of microorganisms between hands wearing rings and hands not wearing rings in ICU nurses.



3.

Set the level of acceptable probability.

It is  = .05, which means that a difference between the microorganism count between the hands with rings and the hands without had to have occurred no more than 5 times out of 100 replications of this experiment.

4. Collect data and compute the appropriate test of statistical significance.  See the information below:


        Sample





After hand washing

Mean

S.D.





No rings




1,597

2,346

}
Difference mean = - 842





With rings



      2,438

3,717

}
t-value = 1.13



















p = .756



5.

Compare the p value obtained at the end of those computations with the alpha previously set. The probability is set at .05.  Results are  t = - 1.13 with 31 degrees of freedom and p = .756  The p value is greater than the desired probability, so statistical significance was not reached.

6. Statistical significance was not reached, so the null hypothesis is accepted.  (So, we have no evidence to argue against the statement that there is no difference in the number of microorganisms between hands wearing rings and hands not wearing rings.  By inference, we cannot support the research hypothesis that there is a difference.  Given the data from this study, the wearing of rings made no difference in the number of microorganisms after hand washing.)

Again, let's walk through an example and then you can work on your project . We'll use this report. 

Reported data: The researcher believe there were relationships among care processes, years on the unit, involvement of staff and perceived supervisors support (SS).  A Pearson’s correlation (r) was used with alpha set at .05.  The following null hypotheses were tested

There is no relationship between care processes and years on the unit
 r= -.21; p=.03   reject

There is no relationship between care processes and involvement of staff
 r=  .21; p=.03    reject

There is no relationship between care processes and perceived SS
r=  .29; p=.002  reject

There is no relationship between years on the unit and involvement of staff r=  .25; p=.005  reject

There is no relationship between years on the unit and perceived SS
 r= -.13; p=.08   accept

There is no relationship between involvement and perceived SS 
 r=   .49; p=.002 reject

Based on the above results, statistical significance was obtained for 5 out of the 6 tested relationships. Therefore, we have evidence to argue that there is an inverse relationship between care processes and years on the unit and positive relationships between care processes and involvement of staff; care processes and perceived SS; years of experience on the unit and involvement; and involvement and perceived SS.  However, the null hypothesis that there was no relationship was
between years on the unit and perceived SS is accepted. How would you interpret these findings to a nurse manager???? 

